Test of the internal boundary

condition implementation in
ETS6



Set up

* Input: g2jofe/JET/96994/2204 t=58.1

* Composition: e+D

* Transport: TCIANALYTICAL, const profiles DT=1.0 m/s*2, Dn=0.5
m/s/2

e Sources: equilibration for temperatures, no sources for densities

* Boundary conditions:

* rho_bnd=0.8, Value (1.0e17 m”-3 for densities, 10 ev for temperatures), Static
edge
* rho_bnd=0.8, Interpretive value, Interpretive edge

* One equation is activated at the time



ne eguation

Value+static edge

96994 2204 51.8043403625
96994 2204 52.8048286438

96994 2287 51.81
96994 2287 52 8

0.0

0.2 0.4 0.6

Interpretive value+interpretive edge

96994 2204 51.8043403625
96994 2204 52.8048286438
96994 22871 51.81

96994 22871 52.8

Red, blue - input

0.0 0.2 0.4 0.6 0.8 1.0

green magenta - output




Te equation

Value, static edge Interpretive value, interpretive edge

Red, blue - input
green magenta - output

TelkeV]

0.965 0970 0.975 0.980 0985 0.990 0.995 1.000



Nl equation

Value, static edge

Interpretive value, interpretive edge

L 1

09. 02 0.4 0.6 0.8 1.0 ' ' '

_0.0 0.2 0.4 0.6 0.8

Red, blue - input
green magenta - output

1.0




TI equation

Value, static edge Interpretive value, interpretive edge

TD[keV]

0.0 0.2 0.4 0.6 0.8 1.0

Red, blue - input
green magenta - output

0.75 0.80 0.85 0.90 0.95 1.00




ETS 5/6 comparison, Te, preliminary

Te (keV) Difference in Te (keV)
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#1: g2diy/fjet/3: 96994/22782 @ 52.800 s
#2: g2diyfjet/3: 96994/22972 @ 52.800 s

T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0
rho-tor-norm rho-tor-norm



